SH7EE EEBEBAEARUCYS YT FRARYDO LERERR - E X (S5 #8 8 )
B o B | W o | TAE | wakm | mke | PRI g LB PNRT I BREL | pie | meks | ek
- - - (fR1E ) -

BKEAR R7.4.16 | R7.4.16 | R7.4.16 | R7.4.16 - - - - R7.4.16 - -
ES - BE & & & - - - - & - -
SR °c 14 14 14 14 - - - - 16 - -
KR °c 15 14 10 14 - - - - 16 - -
KEE MPN/100mL <1 <1 <1 <1 - - - - <1 - -

BSMESFRE | 18/100mL 0 0 0 0 — — — — 0 — -

oy FrREYSon| {E/10L - — 0 - — — — — 0 _ _

STILST {8/10L — — 0 — — — — — 0 — —
p H - 6.4 6.7 6.8 6.6 - - - - 6.9 - -
BE i <1 <1 <1 A — - - - N - -
B =4 <0.5 <0.5 <0.5 <0.5 — — — — <0.5 — —

RAERA — — R7.5.20 — R7.5.20 | R7.5.20 | R7.5.20 | R7.5.20 | R7.5.20 | R7.5.20 | R7.5.20
ESE - - - & - i & i & & i i
SR °c — — 25 — 26 26 26 26 25 25 27
KiE °c - - 13 - 19 17 18 16 16 17 15
K& MPN/100mL — — <1 — <1 <1 <1 < < < A

HRMESRE | 18/100mL - - 0 - 0 0 0 0 0 0 0

SUFTrRRY DLl {E/10L - - - - - - - - - - 0

CTILTT f&/10L - - - - - - - - - - 0
p H — — — 6.9 — 7.2 7.2 6.8 7.2 6.8 6.1 6.5
BE 4 - - < - <t <t <t <t <t <t <1
EE |4 — — <0.5 — <0.5 0.5 0.5 0.5 <0.5 <0.5 <0.5
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B -
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STILST 18/10L
pH —
B &
A 4

BKEAR
XiE -

KR °c
KR °c
KEE MPN/100mL

HSMESRE | 18/100mL

sy FrRRYSHL| {E/10L

CTNDT {&/10L
pH -
B i
piilia 4

HKEAH
BN -

TR °c
KR °c
KEH MPN/100mL
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*H7EE EEBEA RV I U T FRKRY DY LEREHERE-ERXR (BEF # %)

B E B B|E & BEKIR SHEIKIR SHE2KIR A KIR KIRKIR AT E KR BEEF /M KR
HKERAR R7.4.3 R7.4.3 R7.4.3 - R7.4.3 - R7.4.3
Kz - 5] 5] 55 - 5] - 5]
KR °c 9 9 9 - 9 - 9
KR °c 10 10 10 - 10 = 1
K& MPN/100mL <1 <1 <1 - 1 - <1
REIESFRE | 18/100mL 0 0 0 - 0 - 0
sy T rRRYSHL {E/10L - - - - 0 - 0
CTLTT {&/10L - - - - 0 - 0
pH - 6.9 6.8 6.8 - 6.7 - 6.9
BE E3 <1 <1 5 - <1 = <1
EE |3 <0.5 <0.5 1 — <0.5 — <0.5
HKERH R7.5.7 R7.5.7 R7.5.7 R7.5.7 R7.5.7 R7.5.7 R7.5.7
ES - il & il & il i il
KR °c 14 13 13 13 14 14 14
Kig °c 13 14 12 15 13 1 1
KB&E MPN/100mL <1 <1 <1 6 <1 <1 5
MR | f8/100mL 0 0 0 0 0 0 0

SUFTrRRY DLl {E/10L - — - — - — —

STLUT | @/ - _ z _ _ - —

pH = 6.8 6.8 6.8 6.4 6.6 6.6 6.9

BE <1 <1 5 <1 <1 <1 2
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ST FE EEBRERUTCSY YU T FZREYSY LEREHER-EX (F 8 #8 8)
% & 13 B| B TENLKIR 15 & KR BHINEKIR AR KGR
HKEAR R7.4.17 R7.4.17 R7.4.17 -
ES = g & BE —
[l °c 23.8 23.5 20.5 -
KR °c 16.2 1.6 12.4 -
AEE MPN/100mL - —_ _ —
BEIESFRE | E/100mL - - —_ —
syFRRRY UYLl {E/10L BmHed BT RitEd -
STILDT {&/10L BmHEd BHEY BRHEY -
p H — 7.0 6.5 7.1 -
BE B <0.5 1.2 0.7 -
EE =3 0.1 0.2 1.0 -
BKERB — — — —
Kig = - — — _
K[l °c — - — _
K °c — - — _
NI MPN/100mL — — — —
REIESFRE | E/100mL — — — _
syYFrREYSHL| {E/10L - - - -
STILDT {&/10L — — — _
pH - - — - -
BE E - — — _
EE B — — — _
BKERB
Kig =
K[l °Cc
Kik °Cc
K& MPN/100mL
BSMESFRE | E/100mL
sy FraRY L) E/10L
STAST | @
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BE E
AR B
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S =
KR °Cc
Kik °Cc
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BSMESFRE | E/100mL
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CSTILTCT {&/10L
pH -
BE B
EE =
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BEIESFRE | E/100mL
sy T rRBEYSHn| {E/10L
CSTILCT {&/10L
pH -
BE E
EE =
BKERB
K& -
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Kig °Cc
KiE MPN/100mL
BRSIESFRE | E/100mL
YT rRBEY SHu| {E/10L
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EE B




SM7EE EBEHE RISV T FPZRAKY Doy LEREREERE -EX (F & # @)
#w & B B B ZRKIR RR#KR BRKIR INEFKIR BA4KIR F|RKIR
BKERB - R7.4.7 - R7.4.7 - R7.4.7
Kz — — i - g - g
KR °c - 19.5 - 14.0 - 14.5
KR °c — 16.3 - 8.4 - 13.4
KB MPN/100mL — 1 - <1 - <1
REIESFRE | E/100mL — 0 - 0 - 0
oy FrREYSon| {E/10L — — - - - -
CSTILTCT {&/10L — — — — — —
pH - - 1.2 - 7.1 - 7.2
BE E3 — <1 = 2 - <1
AE =4 — <0.5 — <0.5 — <0.5
BKERB — R7.5.8 - R7.5.8 - R7.5.8
K& - — i - i - i
SR °c — 22.0 - 17.0 - 16.0
KiE °c - 16.2 - 12.5 - 14.1
KiEE MPN/100mL — <1 - <1 - <1
BRRIESFRE | E/100mL - 0 - 0 - 0
SYTrRRYSHL| {E/10L — — - - - -
CSTILTCT {&/10L — — — — — —
pH - — 7.3 - 6.7 - 7.2
BE B - <1 - <1 — <1
EE =3 — <0.5 — <0.5 — <0.5
BKERB
Kig -
[UR °c
Kig °c
PN L] MPN/100mL
BSMESFRE | E/100mL
SUFrREKYSHAl {E/10L
STLLT | fE/10L
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g T RREY YL {E/10L
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pH -
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PN L] MPN/100mL
BEIESFRE | E/100mL
syFrRKYTHL| {E/10L
CSTILCT {&/10L
pH -
BE E
AE 4
BKERB
K& —
KR °c
Kig °Cc
KiE MPN/100mL
REIESFRE | E/100mL
oy FrREY S| {E/10L
CSTILTCT {&/10L
pH -
BE |3
EE =3




